EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1FEBFEANF REVFAEEE
ROUND1-GT1

JEAE 4 Hi GIE: 4 TEC  ATH Total
1|5 =T TR I T3 17.50 7.56 25. 06
2 |FRI EE THER Y EA 17.22  7.38 24. 60
3 PIHE KA S IR Ny A 2 A 16.66 7.20 23. 86
4 &l Bt AU =3 16.24 7.14 23. 38
5 (A BE BTk I Ny A A 15.96 6.84 22. 80
6 |l ZFEth papsilay Fr by 15.40 6.54 21. 94
T BRSOt =S = 14.56  6.24 20. 80
8 |Wkm A Tl I = 13.86 5.94 19. 80
9 Ak KE P I Fr v 13.44 5.64 19. 08
10 | KH fEE f] 111 % A 13.16 5.64 18. 80
11 |BplE K g Ny A 2 A 12.60 5.34 17.94
12 |fEH  HERRR A F IR D 0.00 0.00 0. 00

ROUND1-G2
NEAZ £ Hi Fr_ & ¥ 4 TEC  ATH Total
1|k JEER IR I = 17.50 7.50 25. 00
2 (LA 9RA gt B2 L Nyt A 2 A 17.08 17.38 24. 46
3 | TH fEK AbifiE Ny B4 15.68 6.84 22. 52
4 R Eh RER AT F 15.82  6.66 22. 48
5 |fH ik AR A 15.12  6.42 21. 54
6 [/ IR e it Ik T3 14.14 6.06 20. 20
7T PR SEX S U NI A 13.86 5.88 19. 74
8 [@mA —3 TN AT 13.72 5.70 19. 42
9 B EEE PeE I YA 77 12.60 5.46 18. 06
10 |fEH  FESS AR IR Nyt A 2 A 12.04 5.10 17. 14

HFEE TR —HIR 0.00 0.00 0. 00
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F1IRIEEPFELEFEERRES
SFI5E3IR27~28H
REVFARBEE

ROUND1-G3
JIEASL. 4 Hif & % TEC _ ATH Total
R B34St ' KERIF AT 17.64 17.44 25. 08
2 | BB #EA BRI NI oEA 17.22  7.26 24. 48
3 MERE KK LR VA 16.80 7.20 24. 00
4 e D SUHDIR 3 16.24 6.72 22. 96
5 |HEiE ikt TR A IR D 15.82 6.66 22. 48
6 &+ #r i U Ny YA H2A 15.26 6.54 21. 80
TR BN L Ny A 2 A 15.12  6.60 21.72
8 |Frxti H—HE )1 B Frry 14.56  6.12 20. 68
9 |=s B K Nl = 13.72 5.76 19. 48
10 |2 #ES R AT 13.44 5.76 19. 20
11 |5AH  His i 0 = 12.60 5.40 18. 00
12 |7k Zw (S =g 12.04 5.16 17. 20
ROUND1-G4
NEAE 4 Hi BT % TEC  ATH Total
RN PET=E I B EIR T3 17.50 17.26 24.76
2 /M A PR I B oEA 16.94 7.14 24. 08
3 |FEHED A T IR N oEA 15.82 6.90 22. 72
4 |B4ME B WA A 15.12  6.60 21. 72
5 |&T aEK T I B AT 14.70  6.42 21. 12
6 I BEE REAIR Ny A ZA 14.56 6.12 20. 68
7 OPKHE B R Uk = 14.28 6.18 20. 46
8 |~z KX RB IR B oEA 13.44 5.82 19. 26
9 [P k= NI = 13.02 5.52 18. 54
10 |dfH %4 K I 3 12.74  5.40 18. 14
1| B I I NI UEA 11.62 5.04 16. 66




EERLAR—F F1IReEPFEEFEEIRKE

SH5E3A27~28H

1FEBFEANF REVFAEEE
ROUND1-G5

JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |FRs IR TR I T3 16.52 7.08 23. 60
2 | HEE ST IR AT F 16.38 6.96 23. 34
3 |EHE ZEK f] 111 % A 15.96 6.78 22. 74
4 [RRE AIER gt B2 L =3 15.26 6.60 21. 86
5 |KE HEER i L O R T3 15.26  6.60 21. 86
6 B E=f K I D 15.12 6.48 21. 60
T OEBE WA B IR IR = 14.98 6.36 21. 34
8 [fex A it BT IR Ny LA 14.84 6.48 21.32
9 |HE 1 0 e A 14.00 6.06 20. 06
10 |60 B ey I Nyt A A 13.72 5.94 19. 66
11| K% kA A=l AV 13.44 5.76 19. 20
12 [+ 3K FREp LR =3 13.30 5.58 18. 88
ROUND1-G6
NEAZ £ Hi Fr_ & ¥ 4 TEC  ATH Total
L (BTEs o R w7 gEA 16.10 6.96 23. 06
2 |¥ K NG = 15.96 6.78 22.74
3 (A SR iiysy=y AT 15.54 6.72 22. 26
4 | bR VRS REA IR Fr by 15.26  6.48 21. 74
5 |MH T IR A 15.12  6.60 21.72
6 |tk BE TG IR T3 14.98 6.36 21. 34
7| LR 5K AR Ny EA 14.84 6.36 21. 20
8 | R e I Nyt A2A 14.28 6.24 20. 52
9 [Tl & dbifiE Ny YA LA 14.28 6.12 20. 40
10 |4 I8 ) Ny P LA 13.30 5.70 19. 00
11 |#hfk =& AR IR Nyt A XA 13.16 5.58 18. 74
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1FEBFEANF REVFAEEE
ROUND1-G7

JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
IR BT ) i U = 17.08 7.32 24. 40
2 eI b HUHR IS =g 16.80 7.20 24. 00
3 |OHER AR i ] S Ny A 2 A 16.52 6. 84 23. 36
4 AR & NS Fr b 16.24 7.02 23. 26
5 |WER FniE WA SR VA 16.10 7.08 23.18
6 |AH KH P21 IR AT 15.82 6.78 22. 60
7T OERE KTy Ry I A 15.40 6.66 22. 06
8 |MEHE A aFR B oEA 15.26 6.60 21. 86
9 |l fES )1 B v 14.56 6.18 20. 74
10 BRI CRpfE s HUR NI A 13.86 5.94 19. 80
11 |m X —HR A 12.04 5.34 17. 38

ROUND1-G8
NEAY. 4 Hi B & ¥4 TEC  ATH Total
L s TR =g 17.36 7.50 24. 86
2 |EK BEER PN Nyt BA 17.22  7.32 24. 54
3 |BH TRk PRI =y 16.52 7.20 23. 72
4 |1t fEz AL NI UEA 16.24 17.08 23. 32
5 [P BT A 16.24 17.08 23. 32
6 [ FREKH ppsils AT 16.10 6.78 22. 88

JEHR - Andk s T IR 3 15.68 6.78 22. 46
8 W A TRl I Nyt 2A 15.40 6.60 22. 00
9 & HEKES (=i T 14.70  6.24 20. 94
10 [ 2 I B Nyt BA 14.56 6. 18 20. 74
11 [#k 2FR R AT 13.30 5.70 19. 00
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1FEBFEANF REVFAEEE
ROUND1-G9

JEAE 4 Hi GIE: 4 TEC  ATH Total
I AN BRI T3 16.94 7.32 24. 26
2 | AR —HR Frhv 16.80 7.20 24. 00
3 |MHE EEE (AR U 16.80 7.20 24. 00
4 [#l A= REAC UL = 16.66 7.20 23. 86
5 |RE W FRHZR) | IR = 16.24 6.90 23. 14
6 [/ L s U Nyt A A 15.40 6.30 21. 70
7 |EHE A R i 14.98 6.42 21. 40
8 A Bz RIS Nyt A 2 A 14.56 6.12 20. 68
9 |[RERE ENK Ty IR Ny A FZA 14.28 6.06 20. 34
10 |-l #2Z25 A= F IR AT F 13.30 5.58 18. 88
11 |fHA HI=axb | T3 13.16 5.52 18. 68

i 22 ey U 0.00 0.00 0. 00

ROUND1-G10
NEAZ £ Hi Fr_ & ¥ 4 TEC  ATH Total
IR S . EEpsils Frhy 16.80 7.26 24. 06
2 AL AR i ] U AV 16.66 7.14 23. 80
3 |FmE &R NS AT 16.38 7.02 23. 40
4 |k LR ITES2S =3 15.96 6.96 22. 92
5 |EA RRECHR B Ny A ZA 14.98 6.48 21. 46
6 |BR IEE Tl IR I A 14.98 6.24 21. 22
7 |ERE HEit I Ny A LA 14.56  6.24 20. 80
8 |z IR R D N 14.28 6.18 20. 46
9 |RJI ik IR Frhy 14.00 6.24 20. 24
10 |[f&A mFY ) 1B AT 13.58 5.82 19. 40
1| = Bk AR D 12.74 5.52 18. 26
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1FEBFEANF REVFAEEE
ROUND1-G11

JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
1 |JEHE 'EA HUHR IS = 17.50 17.38 24. 88
2 I EER BT NI A 17.36 17.38 24. 74
3B A Lefd I Nyt BA 16.52 7.14 23. 66
4 |FHRe MR RN A 16.38 7.08 23. 46
5 |7EHE 1R THER = 15.96 6. 78 22.74
6 | LB T oy I AT 15.82 6.78 22. 60
7O sk JeitgE AV 15.40 6.60 22. 00
8 M SR = Frry 14.98  6.42 21. 40
9 |HEF BEX Nl = 14.28 6.18 20. 46
10 |JRH K] K I NI A 14.00 5.94 19. 94
11 (5 Flt HLITR S NI IHEA 13.58 5.88 19. 46
12 |liA %6 Fragk L i A 13.02 5.58 18. 60
ROUND1-G12
NEAE 4 Hi BT %4 TEC  ATH Total
L (5K 1 g B2 I Nyt A 2L 17.78 7.68 25. 46
PR VS S T IR =y 17.50 7.56 25. 06
3 I L RIS IR = 16.94 17.14 24. 08
4 [HH HIR i i) I A 15.68 6.78 22. 46
5 |ER AE fif] L1 Uk AT 15.54 6.72 22. 26
6 (W 2HfE Tl I =y 15.12  6.42 21.54
(N NER NI - N JEE Ui I R Nyt H2A 14.56 6. 12 20. 68
8 Pt BRI =g 14.28 6.24 20. 52
9 Ik »o% AR IR 3 14.42  6.06 20. 48
10 |MH AR NI 3 13.72 5.88 19. 60
11 |flH B e NI A 13.44 5.76 19. 20
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F1IRIEEPFELEFEERRES
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REVFARBEE

ROUND1-G13
JEAE 4 Hi GIE: 4 TEC  ATH Total
1 |EAR HER PRI B Nyt HA 16.94 7.26 24. 20
2 (ANl TS =g 16.94 17.20 24. 14
3 EHE EAH ST IR = 15.82  6.90 22. 72
4 | EE2 i IR IR AT 15.54  6.90 22. 44
5 (W5l ERpEZE i it Ik D 15.26 6.66 21.92
6 [EH i B IR R AT F 14.98 6.48 21. 46
(O AL S o N AR IR AT F 14.70 6.48 21.18
8 |@ifE  BAKE Ik D N 14.14  6.00 20. 14
9 (A Koy I T3 13.58 5.82 19. 40
10 [YH HE— REIS IR = 13.30 5.88 19. 18
I B =0 NI FIRRR 11 B =3 13.02 5.64 18. 66
12 % B i Ik A 0.00 0.00 0. 00
ROUND1-G14
NEAZ £ Hi Fr_ & ¥ 4 TEC  ATH Total
1 |%a TN T3 17.50 17.68 25. 18
2 |EEVT AR HOUHD T3 17.50 7.44 24. 94
3 [ A AbfgiE D 17.22  17.50 24. 72
4 |'=E¥ B REA IR =3 16.24 7.20 23. 44
5 [{LH  FkiF Rl I = 15.12 6.66 21.78
6 [ BE Ty IR NS A 15.12 6.36 21.48
7S R KPR A 14.00 6.12 20. 12
8 A4 K e I T IEA 13.58 5.70 19. 28
9 |Z&RE Rk IR I A 12.88 5.58 18. 46
10 |F FFX =R vy EA 12.60 5. 64 18. 24
11 |&ER — e R = 12.46 5.22 17. 68
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1FEEBFREANR REBRT A B £E
ROUND1-G15
JIEASL. 4 Hif BT & ¥4 TEC _ ATH Total
IO EEDLII=Y = B R NI UEA 17.50 17.32 24. 82
2 |EA K =g s 17.22  17.50 24. 72
3|l HERE NS =g 17.36 7.26 24. 62
4 |BPiR K e IR Fr b 16.38 6.90 23. 28
5 HEH HEL RS AT 16.24 6.84 23. 08
6 |mREE R WA AT F 15.68 6.72 22. 40
T OEH KR S B Ny A ZA 14.70 6.12 20. 82
8 |J\EMR S F=E A 14.00 5.94 19. 94
9 |GHEE AR K FH I = 13.44 5.70 19. 14
10 [HIA 15H TG I s 13.30 5.64 18. 94
11 |n R R Ny A ZA 13.16 5.46 18. 62
ROUND1-G16
JIEAY. 4 Hi B & ¥4 TEC  ATH Total
L (Ii'F mEzgr HUHR IS = 16.80 7.02 23. 82
2 |AiL FE%E IN=1 Ny yEA 16.52 17.08 23. 60
3 |NEF e BB % B oEA 16.38 7.14 23. 52
4 | AR Fi1 I N oEA 16.10 6.72 22. 82
5 |ER AR A 15.26 6.36 21. 62
6 | B R N AT 14.84 6.30 21. 14
(AL EE I I NI UEA 14.00 5.94 19. 94
8 |RM E {IFAS Nyt A LA 13.72 5.94 19. 66
9 ¥R AHE I I A 13.16 5.52 18. 68
10 [P fEk (I A 12.88 5.58 18. 46
1L (A et fit] L1 Nyt A B A 12.46 5. 34 17. 80




